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4 ise sl the digis bélow o form e smallest 4-digit 6dd nuriber.

Aris

BP-24

5. Whatis thedifeience between B015:and 42367
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Ans:

B, ook atihe numbers belbw.

Flnid ihe sum of the greatest nimber aind the smallest number.

Ang:




0. Gruceha '?:fpa"i?f s Siti has 4 fimes 46 Manyparty bags as Grece
Hcsw many: party bags does Sify hiave?
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14, Mypacked 63 appie& equally miﬂ isome fruit baskets.

;'How many ﬁ‘wi baskets would Amy have?

Aris;

12 Théfewere A0 rows: pi%eais matﬁeatm Therewere 9 seats In each row.

ﬁtﬂy 2 seats NEerg not piictpied. How rany seate inthe ﬂaeat:e Wi
‘Qoeupied?.
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13.  Ravihas 9'stamps. Sandrrhas 5 times bs many stamps o5 Ravi
How. many starmps must Sandea give o Raviso that they have the sarme
number.of stamps?, ' ' ' .
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15, The sum 6f two nombersis 4086;
The smaller numbier i 1260:
- - Whatis therdifference Between the two numbers?




16, Kuimiar had $1542 atfirst
ARer spanding $352, Kun
Flow much money did Exic have?: |

wirhar sl had $457 more than Eric.
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SCHOOL : MGS SCHOOL
LEVEL :  PRIMARY 3
SUBJECT : MATH

TERM

WA1

Q1)

6032

Q2)

3296 + 10 = 3306

Q3)

7000 + 8 = 7008

7508 - 7008 = 500

Qd)

2385

Qb5}

8015 —~ 4236 = 3779

Q6)

1227 + 100 = 1327

Q7)

3267 + 4438 =7705

Q8)

6709 + 2548 = 9257

Q9)

32-16=16
16+8=2.

Q10)

Siti=7x4=28

Q11)

No. of fruits baskets =63+ 7 =9

Q12)

No. of seats altogether =10 x 9= 90
No. of seats that are occupied=90-2= 88

Q13)

Total =
Each = 6u-=-2 3

| No. of stamps Sandra must glve to Ravi= 2 x 9= 18

Q14)

a)$959
h)$2549 + $959 = $3508

Qi5)

Bigger number = 4086 — 1260 = 2826
Difference = 2826 — 1260 = 1566

Q16)

$157 + $352 = $509
$1542 — $509 = $1033
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